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If ab + bc + ca =0, then the value of - + + is

a’—bc b*—ac c’-ab
(a) -1 (b) O (c)1 (d) 2

if the equation 2x*—7x +12 =0 has two roots aand B then the

a ]
value of — + E is
a

1 7 97 7
a) — b) — c) — d) —
()24 ()24 ()24 ()2
Find the value of x for which the expression 2—3x—4x” has the

greatest value.

3 3 41 41
a) — b) —— c) — d) —
(a) 2 (b) 2 (c) 6 (d) e
The expression x* —2x*+kwill be a perfect square if the value

of k is
1 1
(a) 0 (b) " (c) > (d) 1

if (x— 1) and (x + 3) are the factors of x*+ k,x +k, then
(a) k, =2, k,=-3 (b) k, =2,k,=3
(c) k,=-2, k,=3 (d) k,=-2,k,=-3
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(7)
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5 1 1
if — X =—,then the value of (x+—j is
2x“+5x+1 3 2X

(a) 10 (b) 20 (c) 5 (d) 15

i X+ = 4(a’ + b%)and 3x +i3:4(a3—b3), then a’ —b*is equal
X X

to
(a) 0 (b) 1 (c) 2 (d) 4

1 1
if x =6 + —then the value of x* +— s
X X

(a) 1442 (b) 1444 (c) 1446 (d) 1448

x*—1

2

x:\/g +2,then the value of "

(a) 85 (b) 16+/5 (c) 24+/5 (d) 304/5

is

the value of the expression

5 + 5 + > Foreenenn, + > is equal to
(2°-1) (4°-1) (6°—1) 20°-1)

9 10 11
(a) E (b) B (c) Z (d) Z

the value of (\/€+\/E—\/Z—\/£)x(\/€—\/ﬁ+\/ﬁ—\/£) is

(a) 7 (b) 9 (c) 10 (d) 11

When a=2.5, b = 1.5, then find the value of 93° + 16b>*—24ab=
2

(-a) 6.25 (b) 22.5 (c) 2.25 (d) 62.5



—1+2
(13) if x2+i2=66 then the value of X =% =7?
X X
(a) £8 (b) 10, -6 (c) 6, -10 (d) +4

(14) if a*+a+1=0 then the value of a’is:
(a) 2 (b) 3 (c)1 (d) O

2 4 Xx+2
(15) if x + — =1 then the value of XZ—X i
X X* (1—x)

(a) 1 (b) -1 (c) 2 (d)-2
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